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Q.1. (i) Differentiate between flexibility and Stiffness of a membeg\ N \\\\
(ii) Why flexibility matrix is not used in any software. \\C\\‘\ x§ B
(iii) Explain why flexibility matrix and stiffness matrlx 1s s\]ere\rm and square.
- (2+1+2 = 5)
Q.2. Solve the given beam by using flexibility matrlg\\\\\\\\\ \\\Q ®
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Q.3. Solve the given frame by using flexibility matrix. t))
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Q.4. Solve the given truss by using stiffness matrix method. )]
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Q.5. Solve the given beam by using stiffness matrix meth\\\ . 7
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